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Define: plus-que-parfait

Qu'est-ce que c'est?

The French equivalent to Pluperfect,
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| referstoa single completed action |
| which took place prior to another |
o action in the past i

1s the combinaison of the
Imparfait & Passé composeé

I had listened < Pluperfect (plus-que-parfait)
=

I listened
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How does it work?

Just like in English,
Compound verb following the Passé composé structure

[ —

Plus-que-parfait = Auxiliaire a l'imparfait

Past of the Past

= Auxihatre au
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The structure:

I .
| Auxiliary

| (étre or avoir) +
: imparfait tense

How to choose the auxiliary?

Etre or
N7

represent verbs of motion,
change of place, state or condition

Dr & Mrs Van Der Tramp

Action happening to
your whole person

exemples

aller “se” verbs

most of the verbs

Action happening to
only 1 part of your body

exemples

écouter = ear marcher = legs
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Participes passes:

... of regular verbs:

P — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — — —

... of irregular verbs:

Avoir
Boire
Connaitre
Croire
Devoir
Dire
Ecrire
Etre
Faire
Lire

L 2N 28 2N 2R 2L AR AN AR AN

eu
bu
connu
cru
du
dit
ecrit
eté
fait

lu

Mettre (permettre)

Offrir (ouvrir...)

Pouvoir (pleuvoir...)

Prendre (apprendre...)

Savoir

Suivre (pleuvoir...)

Tenir (venir...)
Vivre
Voir
Vouloir

L 2N 28 2L 2R 2L AR AN AR AN

mis (permis...)
offert (ouvert...)
pu (plu...)
pris (appris...)
su
suivi
tenu (venu...)
vécu
vu

voulu
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Verbs using étre: Dr & Mrs Van Der Tramp

Devenir = J étais Devenu(e)

Revenir 2> Tu étais Revenu(e)

Monter = 1 était Monte S
Rester 2> Elle était Resté(e) i ‘se” VeTPS
Sortir 2 On était Sorti(s) i also U‘S_e_etre
Venir > Nous | étions Venule)(s) | asauxiliary
Aller = Vous étiez Allé(e)(s)

Naitre > s étaient Né(e)(s) [_Bgr}_{fgré;}"i
Descendre =  Elles étaient Descendu(e)(s) i to agree |
Entrer = J étais Entré(e) i pa?’/t(i)clzli:ole i
Rentrer > Tu étais Rentré(e) i passé with i
Tomber 2> 1 était Tombé i your sub]:ect i
Retourner 2 Elle était Retourné(e) i X:Zﬁ;ﬂ;% i
Arriver 2 On était Arrivé(e)(s) i atre i
Mourir = Nous étions Mort(e)(s) ~ TTTTTTTTTTTTTT |
Partir = Vous étiez Parti(e)(s)
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How does it work?

Examples with étre and

ALLER

(to go) using auxiliaire étre
J étais allé(e)
Tu etais allé(e)
11, Elle était allé(e)
Nous étions allé(e)(s)
Vous étiez allé(e)(s)
Ils, Elles étaient  allé(e)(s)

J'étais allé(e)

I had gone

ECOUTER
(to listen) using auxiliaire
3
Tu
Il, Elle
Nous

écouté

Vous
Ils, Elles

J’ ecouteé
[ had listened
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Mistakes to avoid:

| In English, | i IT_I Frenclf.l,. |

' 1 auxiliary for this tense | | 2 possible auxiliaries
i To have (avoir) | | étre or avoir

| i i i i

' shehad gone «--------————- L elle était allée

—— e — — — — — — — — — — — — — — — — — — — —

I
She was going |
I
= imparfait tense (elle allait) |

=> Always ask yourself if the action
has been happening regularly or if was just one off??

=2 And remember in French we have 2 auxiliaries,
avoir BUT also étre
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Negation in a 2 verb structure:

Sandwich the 1° verb (auxiliary)
with NE ... PAS

J ecouté = JeN’ PAS écouteée
Elle allée = Elle N’ PAS allée
Elle s’ promenée = ElleNESs’ PAS promenée

Asking question in a 2 verb structure:

-elle allée ? -je écouté ?
Est-ce quelle allée ? Est-ce quej’ ecoute ?



